
υ 350:= ν 3000:=
λ

υ

ν
:=

ω 2 π⋅ ν⋅:= k 2
π

λ
⋅:=

P01 1:= P02 1:= r1 1:= r2 1:= f01 0:= f02 45:=

t 0 0.0001, 1..:=

t2 t( ) t
0
υ

+:=

y1 t( ) ω t⋅ k r1⋅− f01+( ) 2⋅
π

180
⋅:=

y2 t( ) ω t2 t( )⋅ k r2⋅− f02+( ) 2⋅
π

180
⋅:=

P1 t( ) P01 cos y1 t( )( )⋅:=

P2 t( ) P02 cos y2 t( )( )⋅:=

Pc t( ) P1 t( ) P2 t( )+:=
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P03 1:= P04 1:= r3 1:= r4 1:= f03 0:= f04 0:=

t3 t( ) t
0
υ

+:=

y3 t( ) ω t⋅ k r3⋅− f03+( ) 2⋅
π

180
⋅:=

y4 t( ) ω t3 t( )⋅ k r4⋅− f04+( ) 2⋅
π

180
⋅:=

P3 t( ) P03 cos y3 t( )( )⋅:=

P4 t( ) P04 cos y4 t( )( )⋅:=

Pc2 t( ) P3 t( ) P4 t( )+:=
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